
1 
 

Revision sheet: Calculus 1 
 

Choose the correct answer 

 

Question 1:  The solution set of 2𝑥2 + 𝑥 − 2 ≤ 𝑥2 + 2𝑥 is: 

 

     (a)   (−1;  2)                (b)    [−1; 2]           (c) (−1;  2]       (d)   [ 1; 2 ] 
 

Question 2:     The natural domain of  𝑓(𝑥) =
𝑥−1

𝑥−2
   is: 

 

(a)  𝐷𝑓 = ℝ − {1}      (b) 𝐷𝑓 = ℝ − {1; 2}        (c) 𝐷𝑓 = ℝ − {2}       (d) 𝐷𝑓 = ℝ       

 

Question 3:  The natural domain of   𝑔(𝑥) =
1

𝑥
+ √𝑥   is: 

 

(a)   𝐷𝑔 = (−∞;  0)     (b)   𝐷𝑓 = (−∞;  0]         (c)  𝐷𝑔 = [0;  ∞)          (d) 𝐷𝑔 = (0;  ∞) 

 

Question 4:  If  𝑓(𝑥) = √𝑥 + 2 and 𝑔(𝑥) = 𝑥 + 1 then (𝑓𝜊𝑔)(𝑥) =   

 

     (a) √𝑥 + 3           (b) √𝑥 + 1 + 2         (c)  √𝑥 + 3              (d)  𝑥 + √𝑥 + 3   

 

Question 5:   : tan(
𝜋

3
) = 

(a)   
1

2
                       (b)   

√3

2
                     (c) 0                   (d) √3 

 

Question 6:  1 + 𝑐𝑜𝑡2𝜃 =  
 

(a)    𝑐𝑜𝑠2𝜃                   (b)  𝑠𝑖𝑛2𝜃                          (c) 𝑠𝑒𝑐2𝜃               (d) 𝑐𝑠𝑐2𝜃             

 

Question 7:     The solution of   |2𝑥 + 5| ≤ 3 is 

     (a)   (−4. ; −1)                (b)    [−4; −1]           (c) [−1;  2]       (d)   [ − 1; 2 ) 

 

Question 8: The solution of   |2𝑥 + 5| > 1 is 

     (a)   (−∞; −3) ∪ (−2;  ∞)      (b)    [−4; −1]           (c) [−2; −3]       (d)   [ − 2; −3 ) 

 

Question 9:     lim
𝑥→5

(
𝑥2+2𝑥−35

𝑥−5
) = 

(a)  12                 (b) 2                            (c) 10                          d) 11    
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Question  10:    lim
𝑥→∞

(
𝑥2−2

3+𝑥5) = 

(a) 
1

3
                 (b) 

−2

3
                            (c) 0                          d) 1              

Question 11:    lim
𝑥→∞

(
3𝑥2+2𝑥−1

2+5𝑥2 ) = 

(a) 
3

5
                 (b) 

2

5
                            (c) 0                          d) 1            

Question 12:  The vertical asymptote of the function 𝑓(𝑥) =
𝑥−3

𝑥−2
 is  

 (a)           𝑥 = 1         (b)    𝑥 = 2                   (c)     𝑥 = 3     (d)  𝑥 = 0    

 

Question 13:  The horizontal asymptote of the function 𝑓(𝑥) =
𝑥−3

𝑥−2
 is  

 (a)           𝑦 = 1         (b)    𝑦 = 2                   (c)     𝑦 = 3     (d)  𝑦 = 0    

 

Question 14:    lim
𝑥→3+

(
1

𝑥2−5𝑥−6
) = 

(a) −∞                (b)+∞                            (c) 0                          d) 1      
 

Question 15:  The function 𝑓(𝑥) =
(𝑥−3)(𝑥−1)

𝑥−2
   is not continuous at 

 

 (a)           𝑥 = 1         (b)    𝑥 = 2                   (c)     𝑥 = 3               (d)  𝑥 = 0    

 

 

Question 16:  Which of the following is an even function    

 

 (a)       sin 𝑥         (b)  cos 𝑥               (c)     𝑥 + 1              (d)  tan 𝑥    

 

 

Question 17:     The solution of   |2𝑥 + 1| ≤ |𝑥 + 2| is 

     (a)   [−1;  1]                (b)    [−4; −1]           (c) [−1;  2]       (d)   [ 1; 2 ) 

 

Question 18:  Which of the following function is continuous at = 1 ?    

 

 (a)   𝑓(𝑥) = {
𝑥2−1

𝑥−1
; 𝑥 ≠ 1

3  ; 𝑥 = 1
      (b)  𝑔(𝑥) =

𝑥2−1

𝑥−1
     (c)  𝑓(𝑥) = {

𝑥2−1

𝑥−1
; 𝑥 ≠ 1

2  ; 𝑥 = 1
     

 

 

 

 


